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Belarus, Minsk, April, 7, 2020

Problem A. Agile permutation

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 megabytes

You are given an integer n and a permutation of numbers pi, ps, ..., pn. YOu are also given two integers a, b.
There are 2 types of operations. The first type: swap any two elements of the permutation for the price of a
coins. The second type: shuffle the permutation randomly for the price of b coins. You are allowed to make
any number of operations of each type in any order. Your goal is to get identity permutation(1,2,...,n)
from the given one. You need to find the mathematical expectation of the number of spent coins on
achieving the goal with the optimal strategy.

Input

The first line of the input file consists of numbers n, a, b, separated by spaces.

The second line contains the permutation p of length n, elements are separated by spaces.

1<n<20
1 <a,b <1000

1<pi<n

Output

Output single number: the mathematical expectation of the number of spent coins. Your answer will be
considered correct, if it’s absolute or relative error don’t exceed 1079,

Examples
standard input standard output
255 0.00000000000000000000
12
2561 2.00000000000000000000
21
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